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Order of Operations

4. Which of the calculations below are incorrect?

A 12x(6-4)=68
B. 16+9x7=79
C. 14+8:(2x2)=11
D. 11+18%6=14

¢

5. Complete the statements below using <, > or =.

A 24+8x3 12x(6-2)
B. 12:2x(4+6) 12x8+:2
C. 16+4x3 4x7+(9-2)
D.  (99-66):11 12x9-20

¢

6. Arange the digit cards below fo complete the calculation. Use each digit card

T OREEEE

Explain how brackets could be added so that the calculation gives a different answer.
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Mental Calculations

4. Tick the most efficient order to work out each calculafion below.

V[ramrare | [wrmam | [comerwn |

2 | A.3,079+ 6,921 +2,156 | | B.2,156 +3,079 + 6,921 | |c.u:| +2,156 +3,079 |

JlA.ZSIIx37x4 ‘ ‘I.Bﬂxlx37 | |c.37x4xzsn |

4|Luu-us—sn | |l.ns—z,5n-5u | |c.un—su—us |

¢

5. Alfie wants to buy the ifems below for his funfair event.

l £1,525.99 |

‘Write @ mental calculation you could use fo find their approximate fotal price.

| |
e

6. Asha multiplied the numbers 120, 4 and 5. Her working out is shown below.

120x4=14380

4 80
x 5

2 400
T

Are there more efficient ways of solving this calculation? Convince me.
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